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This question paper contains 170 questions. / ¥ 5% T ¥ 170 77 & |

All questions are compulsory, / g}y sFEE B |
One question carries half mark only / ts ¥va % f7g et aman 3% R |

Maximum Marks : 85 sRyeran 37 : 85
Time : 2 Hours o 2 e
I.  The people of which civilization was first to produce cotton in the world ?
(A) Mesopotamia (B) Egypt . =
(€) China (D) Indus VaJllg:f
ﬁﬁﬁmﬁmﬁmm%ﬁﬁﬂmm 20, S
(A) B (Bl ﬁm . R
() o mma‘ N
2.  The Dasarajna war mnh, plas.t. nn IM: h-mks ol which river ?
(A) Beas _(B) 1L5dlll.fj “(C) Ravi (D) Chenab
[aE] FI3T§ af-h th‘q?ﬁ iiﬂa gtgé zﬁ 2
-:__».,,(A) mj H?{F:Ff (C) TrE (D) =9
3. 'l"he lc:-m Upa:\)lslmda means
(A) ‘lo know

(B) knowledge acquired by sitting close to the teacher
(C) behind the warrior

(P) None of these

Fufieg 7g & ared @

(A) A1

(B) T % wifty Fgw afvia fevm 7

(C) Fear & 418
(D) gﬁﬂaﬁéﬂﬁ
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4. The mother of Mahavira was _
fA) Trishla (B) Yashodhara (C) Kalavati (D) Mridula
TETER ﬁl'n?n =TI R YT 7
(A) Trerem B) =ww  (C) FwEdt (D) g

S. Dipavamsa is 5
(A) Buddhist text
(C) Hindu text
Ry ws
(A) Signy (B) Sy (©) fegziw (D) EE Ty

6.  Harisena was the court poet of which ruler ?

(B) Jain text
(D) Christian text

(A) Ashoka (B) Kanishka
(C) Harshavardhan (D) Samudragupta
T8 558 WIras &7 ot 55y o 0

(A) 39N (B) =f=s (C) wdatlq (D) WYET<
T Malik Kafur was the able General of which Delhi Sultan ?

(A) Balban (B) Alauddin Khilji
(C) Firoz Tughlaq (D) Tbrahim Lodhi
e FIg Fh ool geam &1 mem s o 0
(A) oeFeq (B) 3IeT=EN faersh
(©) TR grere (D) THEM &
8.  Battle of Talikota took place in which year ?
qTetIhIeT 1 g frg 9 BT 1 2
(A) 1560 (B) 1562 (C) 1565 (D) 1572
9. Tulsidas belonged to which Indian state ?
(A) UP (B) Bihar

(C) Madhya Pradesh, (D) Maharashtra

L (C) we3 wew (D) HEWTE
Code No. : C-623/2020/Series.A —~ ———— )
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10.  Which Mughal emperor forbade sati and Jharokha darshan ?
(A) Humayun (B) Akbar (C) Jahangir (D) Aurangzeb

Fora e e 3 et 3t iy st P folen e
(A) TR (B) s (€) T (D) siirs

11.  Who was popularly known ag Nana Sahib ?

(A) Balaji Vishwanath (B) Baji Rao |
(C) Balaji Baji Rao (D) Narayan Rao
WA A WIRA % AW @ wfg 0 g
(A) aTerrsit fevay (B) =i |
(C) =TeT=h aTsiia (D) A T
12. The Cape Route was discovered from Europe toﬁnd' hich of the
following ? |

(A) Alfonso d* Albuquerque
(C) Vasco-de-Gama ) N
ﬁn%i‘@ﬁﬁé%aﬂsimqfﬁa e uek:

ced by which of the following ?
(B) Lord Cornwallis
(D) Lord Amherst

S magmqmﬂfu AR 61 7T 7

(B) IS HHAGTR
(D) =is wEe
14. The first annual session of Indian National Congress was presided over by
which of the following ?
(A) W.C. Banerjee (B) Dadabhai Naoroji
(C) Pherozeshah Mehta (D) S.N. Banerjee
frefafgs 0 @ e undm tdfa sig & vy aifts w3 $ s 6 2
(A) s, 3 (B) Zrers R

(C) Toirsems vaa (D) UH.UF, S

e v ——



ls.

16.

17.

18.

19.

20.

Veda Samaj was established by which of the following ?

(A) Sridharalu Naidu (B) Swami Sahajaananda

(C) Keshab Chandra Sen (D) Raja Radhakant Dev
FrerfRes & & Ry gro 3w 1 2w i

(A) v Tmrg (B) w@mt wgwe

(C) e wz 43 (D) T myTeRTE 29

Shiv Kumar Sharma is associated with whicl musical instrument ?
(A) Sarod (B) Santoor (C) Sitar (D) Violin
e e vt i et o @ wefm 3 0

(A) g (B) E. (C) foam (D) =t
‘Nautanki® a folk dance of which Indian state ?

(A) Odisha (B) Kamataka (C) up (D) MP
AN e et e e 2

(A) ifeen (B) =iem (C)y 3.9, (D) =,

French Revolution initiated in which vear ?
mtsﬁvﬁﬁiﬁrwmﬁﬂaﬁgm o1 9

(A) 1764 (B) 1782 (C) 1789 (D) 1795

Who was the pioneer of American Revolution 7

(A) George Washington (B) JohnF, Kennedy
(C) Franklin D. Roosevelt (D) Abraham Lincoln
LI FHife o wora) #ig & o
(A) TS aif¥mes

(B) ¥ s, 5
(C) Vel . =vmee

(D) 3=1ER o

Hampi. a cultural heritage site is loca

ted in which Indian state 2
(A) Gujarat

(B) Maharashtra (C) Tamil Nadu (D) Karnataka
m,ﬁwmmhm%ﬁmmﬁﬁfaa%?

(A) TS (B) =mEmme (C) 7fFem (D) #4®



21,

22.

24.

1‘5‘

26.

The Sun is how many times bigger than the Earth ?

(A) 13000 (B) 130000
o gef & fen mmam 3

(A) 13000 (B) 130000

Solar system has how many planets ?

drza A fEaymm o
(A) 7 (B) 8

Vernal Equinox is on which date ?

(A) 21 March

(C) 23" September
gua-faya fas Wfa s v 2 o
(A) 21 m (B) 213
Basalt is 2 an

(A) Igneous rock

(C) Sedimentary rock

waree d v

(A) HTAR T

(C) stawTd) =g

Rockies mountain range is located m

(A) North America

(C) North-West Africa

T i e el wn R R
(A) 88 smfien

(CY 3W-ufmm soie

(C) 1300000 (D) None of these
1300000 (D) ¥4 ¥ =8 &
9 (D) 10
21" lune

22™ December

nfEam (D) 22 Rman

Metamorphie rock
None of these m
surafta |9

gt 8§ Wil Al

South America
Fast Austrulia

ziten i
o] wfezfem

The ozone layer 15 located within which atmospheric layer ?
(A) Troposphere (B) Stratosphere (C) Mesosphere (D) lonosphere

IR T fom argmnafe TR A BRI R0

(A) ¥haizs

(B) ==aURER (() weaHEd

(D) HEEEEe



27.

28.

29.

30.

31.

Which of the following is not categorized as a permanent wind ?
(A) Trade winds (B) Westerlies

(C) Polar winds (D) Monsoon winds
Frerforfiees & & fiere) wemft e & anffeper 1 o i1 e 2

(A) =m9rd ga (B) ugam e

(C) ydfim vad (D) =i aH

Isobars means place of

(A) Equal rainfall (B) Equal sunshine

(C) Equal pressure (D) Equal depth in sea
HTFEER & w7 e & 2

(A) o919 991 & we (B) WM GIYHM & e
(C) &HM & & wet (D) HHM FHE TES & T
Which of the following is a most saline water body ?

(A) Great salt lake (B) Dead Sea

(C) Lake Van (D) Lake Assal

ﬁmﬁ%aﬁéaﬂqmwﬁlﬁmaﬁﬁmm%?
(A) RFEIF (B) TAR  (C) d5a9 (D) &% s

Boundary Line between France and Germany is

(A) Hindenburg line (B) Maginot line
(C) Oder Neisse line (D) 38" parallel
W 3 s+ % off ofiy Ty 2

(A) feeganimn (B) fHR @
(C) 3T T (D) 384 Yere
Palk strait connects Bay of Bengal with

(A) Indian Ocean (B) Pacific Ocean
(C) Atlantic Ocean (D) Arctic Ocean
I STESHER T i @it i frad S 2 ;

(A) feg wemmr (B) I HEEFR

(C) FeeAves HEmmR (D) TS TEETR



32.

33.

34.

35.

36.

37.

Paris is located along the banks of which river ?

(A) Tiber (B) Spree (C) Hudson (D) Seine
ufeE o ) % et fRm 2
(A) &R (B) =f (C) &SE (D) &M

Pittsburg is famous for which industry ?

(A) Silk textile (B) Ship Building
(C) TIron and Steel (D) Locomotives

Tiregen form 3aim & fom gufirg 2 9

(A) Toes 7@ fmim (B) & fmio =

(C) e 3K seama (D) wArRHEEE

Which is the only country through which both equator and tropic of
Capricorn passes ?

(A) Brazil (B) Russia (C) China (D) Canada

S W UFHHE o9 B FE § Fayae -t i ve-twn 2 e E 2

(A) AT (B) =H (C) = (D) =TE

Indian subcontinent is located in which hemisphere ?
(A) Northern (B) Southern (C) Western

WA 3T i § 3t e 1 fea R 0
(A) 3l (B) eferof (C) g

(D) None of these

(D) 8 | FE T8

Jelep La pass is located in which Indian state ?
(A) Arunachal Pradesh (B) Sikkim

(C)y H.P. (D) None of these

Sferd o g fer vt Te A R R 2

(A) IFFITES yey (B) Tafesn

(©) fam. (D) =7 B =rE 7H

Which river is called sorrow of Bihar ?

(A) Swan (B) Kosi (C) Son (D) Damodar
8 RN e e sm I 22

(A) == (B) =i (C) =m

(D) T



38. Kakrapara project is built on which river ?

(A) Tapt (B) Godavari (C) Malaprabha (D) Periyar
HIHIR afgrsn frg 98 w ffifa & 0
(A) ar (B) e (C) wWemmn (D) U@
39.  Sunderbans mangroves is located in which Indian state ?
(A) Gujarat (B) Andhra Pradesh
(.C) Tamil Nadu (D) West Bengal
YetE- Ayg (H) e ardm s i fRm R 0
(A) T (B) 30y wem
(C) afyeTg (D) ufv=m wmme
40.  Which of the following is not a cereal crop ? o
(A) Bajra_ (B) Rice (C) Linseed 4%
Feafferdasn dumsaa it 25 -
(A) =90 (B) =mEe O
41. Which is known as Regur.Sa
(A) Red Soil ) Blagk'Soil,  (C) Laterite Soil (D) Alluvial Soil

(€) HaLyE (D) Ve gE

; : rman of the Union Powers Committee constituted by the
uent Assembly ?

A) . ehru (B) M.K. Gandhi

(C) Sardar Patel (D) Dr. B.R. Ambedkar

wfaum an gm e g v FHma S ama sn a0
(A) J.UA. T5E (B) A, i)
(€) WER Iee (D) . #i.3r, =g
43. India has borrowed Directive Principles of State Policy from which country 7
(A) USA (B) Britain (C) Canada (DY Treland

T % T Aifa 3 Freeres v few @ e # 0
(&) Fu8T (B) foré (C) ATl (D) IS



44. Which part of Indian Constitution deals with Elections ?
(A) Part-XV  (B) PartxVvl (C) Part-XVII (D) Part-XVIl
s wfavm w1 38 @ um Rates 8 gefm 22
(A) MI-XV (B) wm-xvl () ®m-XVII (D) ym-X VI

45, The preamble of Indian Constitution was amended with which constitutional
amendment ?

(A) 42 (B) 44" () 52 (D) 68"

Wmmmmmﬁsﬁmﬁéﬁﬁaﬁmm?

(A) 424 (B) 448 () 52 (D) 684
46. At present, India has how many Union Territories 7

adum e i feas Fegenfam wam 22 o

(A) 7 (B) 8 () 9

47. Indian Citizenship may be lost by which of (S
(A) By Renunciation
(C) By Termination
Fferfran & faad g T .
| gafA g (D) wREd

48,
() Ram Nath Kovind

(D} None of these

() T e e
(D) g8 2w T

49. Joint sessions of both the houses of Parhiament takes place on the order of

(A} President (B} Pnme Mmster

(C) Speaker of the Lok Sabha (DD} Chairman of Rajya Sabha
divre & D) WAl ) HYE WA e WTER B §EE A A 7

(A) Tgaf (B) W =

(C) @ 3 & FEE (D) TR & AR

e T e ———— e et ,.....___--d'"""-l
- ke N .r..«,z;;rzowsork*
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50. At present, the supreme court consists of how many Judges

S1.

52.

53.

54.

et 1 et e o et i 7

(A) 25 (B) 26 (C) 30 (D7) 31

PIL stands for -
(A) Private Investment Law (B) Private Interest Litigation
(C) Public Interest Litigation (D) None of these

PIL § =1 A 2

(A) Private Investment Law (B) Private Interest Litigation

£C). Public Interest Litigation (D) 0 ¥ =1 e

Which legislative assembly has less than 60 members ?

(A) Goa (B) Sikkim (C) Mizoram (D) All of these
e fymamdco s asn Ee= 2 9
(A) =T (B) fafesw (C) =g (D) 4§ @t

Who is the Guardian of Public Purse ?
(A) Attorney General of India

(B) Solicitor General of India

(C) Finance Commission

(D) Comptroller and Auditor General of India

HIH 5 Fwawien (TieTs 9H) w1 EEw R 0
(A) WWE F1 HEATFITE

(B) WNd =1 HE=IESEa

(C) Tam zmam

(D) 9TE 1 erEl-faas 3k meemg i
UPSC is a/an

(A) Constitutional body
(C) Statutory body
UPSC 2 T

(A) Faurs Frepm (B) amidurfs fwm

(B) Non-constitutional body
(D) None of these



_—

155 The Cl-_lai.nnan of National Humap Rights Commission should be a
(A) Sitting Judge of the Supreme Court

(B) Retired Chief Justice of any High Court
(C) Retired Chief Justice of India
(D) None of these

T HE AHR 3118 &1 a1 2 Ree
(A) I=TH AT FT FA9H =pnefiar

(B) ﬁv&ﬂ\ﬂﬁmﬂmmﬂa—rﬁ@g@wzﬂm %
(C) A %t Vel e =i |
(D) ¥H | FIS &

56. ‘Transport’ falls in which sector of Indian economy ?

(A) Primary Sector (B) Secondary Sector
(C) Tertiary Sector (D) None of these
W referawen & foea & o ofmes sma g 0

(A) sefireh & (B) Fadfs am
(C) Telta &= (D) ¥ 8 13 78
37, Net National Product (NNP) is
(A) GNP -GDP (B) GDP - Depreciation
(C) GNP - Depreciation (D) None of these
T TEH 31 (NNP) 2
(A) GNP -GDP (B) GDP -s™
(C) GNP -B™ (D) s9H A =18 7#
58.  The book ‘Poverty and Un-British Rule in India’ is written by
(A) Dadabhai Naoroji (B) VKRV Rao
(C) S.D. Tendulkar (D) P.C. Mahalanobis
wtadf te am-fafw v @ 3o T e forg
) TGS S (B) =1.%.34. U9

(0) .. Ggwt (D) di.H1. FeremEE



70. Which is the best conductor of heat ?

(A) Silver (B) Tin (C) Lead (D) Mercury
S 1 H1 ITH IH 8 ?
(A) =1 (B) & (C) i (D) Hed
71. Convex lens is a
(A) Convergent lens (B) Divergent lens
(C) Both (A) and (B) (D) None of these
I 1 & T
(A) wfard wid (B) U@ &id
(C) (A) 3 (B) qHt (D) T & HIE TE
72.  Yellow colour is formed from the combination of which of the following
colours ?
(A) Red + Green + Blue (B) Red + Blue
(C) Blue + Green (D) Red + Green
et 3 & o it 3 oo & ofter o1 i 2 2
(A) S + & + el (B) @ + e
(C) e+ & (D) & + &

73. AC Dynamo is a
(A) Rectifier  (B) Microphone (C) Generator (D) Transformer

AC AT 8 U
(A) feward (B) WEHFGH  (C) SFE (D) wufturfim

74. X-rays were discovered by

(A) Henry Becquerel (B) Roentgen
(C) 1.J. Thomson (D) Neil Bohr
X2 (frrott) 1 @ fem 1 7

(A) &0 T (B) Tigem

(C) .3, g (D) et arey



76.

.

8.

19,

which is the only : ,
Y alom in which neutrons arc not present ?

A) Hydrogen ¢ -
(A) Rydrog (B)  Helium (C) Sodium (D) Potassium

P 1 TR T R it 1 ufivgm e 21 B 2
(A) T (B) Roram () wfEam (1) e

Oxalic acid is present in which of the following ?

(A) Milk (B) Tamarind (C) Tomato (1) Lemon
freferfias ® | foem armifems s im0

(A) gH (B) 3o (C) T (D) 7
Blue vitriol is

(A) Calcium oxychloride (B) Copper Chloride

(C) CuSO45H,0 (D) None of these

(A) Ffesrem srediags (B) I FANGE

(C) CuSO,5H,0 (D) T ¥ HIE TR

Bell metal is an alloy of

(A) Copper and Tin (B) Copper and Zinc
(C) Lead and Tin (D) None of these
I et TR fgeg 2 7

(A) dfen 3 EH (B) TTET 3T ST
(C) i 3 EA (D) T 8 I 7

Night blindness is caused by deficiency of which vitamin ?

(A) Vitamin A (B) vitamin C  (C) VitaminD (D) Vitamin £
Wi feg BrefA A FH A e e ?

(A) RefimA  (B) fefmc (O Ffmp (D) Rab=E



80. Human heart is

(A) Two chambered (B) Three chambered
(C) Four Chambered (D) None of these
LISER CORE

(A) @ =&t (B) #F HH

(C) TR (D) T &I T

: 219 in Indi
81. What is the name of the first indigenous test kit for coVID-19 in India,

which was launched in Pune ?

(A) Patho detect (B) COVID detect

(C) India detect (D) Mylab detect
Eﬁ'ﬁ?ﬁagﬁwaﬁ’tcovm-lgaﬁmm%@mmmm% ?
(A) Ten feewe B) e feew

(C) ¥fem feewe (D) wEeE fgee

82. What was the theme of the 2020 World Autism Awareness day ?
(A) Autism is not a disease (B) Together we can
(C) The Transition to Adulthood (D) Assistive Technologies

zozo%a?s‘aﬁmaﬁaﬁaﬁaaaﬁreﬂnmzﬂ?
(A) afesd g e ¢ el (B) Zex el &
(C) & il EUSTeRs (D) e el

83. The Government of India has recently set up a “Cargo air-bridge” with
which country, to transport critical medical supplies ?

(A) Srilanka (B) Nepal (C) China (D) Bangladesh

T TR A B € 6 R 3w e fafeag : .
forg T G- (ATCTaTE 7 ) T fev 2 0 (e e

(A) et (B) are (
) == -
o P N (D) sTwerew




Foreign T .
4, The gn Trade Pg] _
B into force in which Yea:c-)y, which has been extended till March 2021, came

frew =R Hify H
o AT 2021 755 e 1 778 3, Frm e A oft 2
(A) (B) 2015 (€) 2016 (D) 2017
According to a re
B5- c1 ; O @ recent report from UNCTAD, which country along with
China will not be affected by recession ?
(A) Saudi Arabia (B) Germany
(€) Japan (D) India
UNCTAD %1 3 R % IR, <[ % T I E Sy W | e
T8 B 2
(A) T3l 3E (B) W (C) M (D) W

g6. Which Indian newspaper that was being published in;'t'l_w.. United States for
50 years has ceased its printed edition ? W N

(A) India Abroad (B) Indifﬁ'rsin \mer\ca \

(C) Indian Panorama ADY -li}g?ﬂﬁ_;ﬁiﬁgpura )

A @ e e A, S0 ST B TG S e, S
(A) $fem s - (13) sfem g ST i
iy IS o

i, ‘I).ii%}g M‘(_l]'l..‘ﬂ“sﬁh (he famous painting of which Indian artist, who recently
passediaway N

(A) Nemai Ghosh

(C) Satish Gujral

A o TG w € A
(A) Fmré T

(©) W T

(B) Nagorav Vitthalrao Deshpande
(D) Jayram Kulkarni

(B) TS fagers Tors

(D) STEUE FHershr




88.

89.

90.

91.

92.

Le.o.Varadkar, who recently tendered his resignation, was the Prime
Minister of which country ?

(A) France (B) Ireland

(C) The Netherlands (D) Greece

forat atest, R arer € 8 s @R siffa fem, @ fee 2 %1 wym w6 3 0
(A) wE (B) ¥mwE  (C) el (D) i

The ‘National Organic Food Festival® held recently was hosted by which of
the following state / UT ?

(A) Lakshadweep (B) Assam

(C)- Maharashtra (D) New Delhi

frafafaa § & frg oo/Fsofed s 3 g @ # g AEEE FEE R
Fieega i doer 6 2 2

(A) W& (B) 3mH (C) Wemrg (D) = feweh
India’s first floating Jetty has been inaugurated in which state / UT ?

(A) Andhra Pradesh (B) Goa

(C) Maharashira (D) Gujarat

e T /T Sou § HTE % 9 Teiten (dta) HE w1 Igue fohan man 2
(A) sgwem  (B) TEl (C) Wenrg (D) T=E

Project Tej, which was in news recently, was launched by which Indian
state ?

(A) Telangana (B) Tamil Nadu (C) Kamataka (D) Kerala
21 81 B gREET # @ Ao S e o1 Wi TR aidtE 7= | e 2
(A) el (B) ez (C) FAEH (D) F&

Which city was host to the India-Bangladesh SAMPRITI-IX Joint Military
Exercise ?

(A) Umro (B) Kolkata

(C) Vishakhapatnam (D) Kochi
W—mm-lxwhmﬁﬁmmwﬁﬁﬁ?

(A) ELUE (B) e (C) RemEmEE (D) i



o

W

9.

9%,

which city was the host of Gyl Food 2020°, the world’s largest annual food
and beverage trade exhibition 9

(A) Paris (B) Newyork (C) Dubai (D) Doha
v 1 TR T W G ¥ s e e S 2020° & Ao fore TR A
H 17

(A) dTE (B) Z@&  (C) g (D) &

Amit Panghal, who was in news recently, is a famous personality associated
with which sports ?

(A) Archery (B) Boxing (C) Wrestling (D) Tennis
W@ﬁwﬁ@mwm@ﬁqﬁmaﬁﬁ%7 @

: " . EHe
(A) e (B) wEREwl  (C) Fo (D) Fm

O]

The 2™ BIMSTEC Disaster Management Exercise, 2020 has been
conducted in which city ?

(A) Thimphu  (B) Bhubaneswar(C) Colombo (D) Kathmandu
g BIMSTEC 31e yaud 372, 2020 g ST&T 3 3T ga3m & ?

(A) ferg (B) WA () e (D) FT3Tg

If the second hall of the [-nglish alphabet 1s written in reverse order then the
position of which letter in the second half will remain same as in english
alphabet

afg 3firsf avfwren 1 g8 sy T 3re FH A feran S A s g am H S
& srere ) uf T Gofl 9 37 SO A E 2

(A) N (B) 7 (€) S (D) T

Which is different from the rest”

THamyf=dr
(A) ZX (B) RP (€) JG (D) NL



98.

99.

100.

101.

As ‘Innings’ is related to ‘Badminton’ in the same Way ‘Halfnelson’ is
related to which of the following ?
(A) Wrestling (B) Boxing (C) Weight lifting(D) Golf

ECAEUS *m*awaﬁa*m'm@aﬁaﬁmﬁmh
(A) Flt @) ywamt  (O) aireE (D) TeH

In a code ‘QUEUE’ is written as *Q22" and
‘BANANA" is written in the same code as
w @rg # ‘QUEUE" I +Q22" feran AT, 3 ‘CHURCH’ &1 ‘JUR]® for@n 9/

A s FE H ‘BANANA’ =1 for@r s
(C) BASASA

‘CHURCH as ‘TURI" then

(A) BSSA (B) B3AS (D) BSASA

certain code ‘ni tim si’ means *how are you'; “ble ni si” means *where

In a
are you', then which of the following word is used for ‘where' ?
(A) ni (B) um (C) si (D) None of these

el fafvaa =is T *pi tim si” @1 M2 *how are you’ £: ‘ble ni si” 1 A
'8, @ “where’ & foro e a1 e WeE g3 27

(C) si (D) =98 | g A7

‘where are you
(A) ni (B) tim

[ bicycle is called messenger, messenger is called bus, bus is called train
train is called acroplanc and aeroplane is called pedestrian then tell by which

vehicle you can reach your destination in little time ?

(A) bicycle (B) aeroplane  (C) pedestrian (D) bus

aft grehee 1 GeUETER, HeaTES w1 g9, 59 & ¢4, ¢F H FAEAE 3N
RATETEIS ! TeATH] FEl FI0 A1 54150 % fFE 91T 8 Ww {9 fasy T 0%
57 G949 H UEE §F0 & 7 |

(A) dTEfee (B) ®R=E=  (C) veamEt (D) ==



102.

103.

104.

105.

In the following number series. how many such even numbers are there

which are followed by an odd number and preceded by any even number ?
86768932753422355228] 1 9

(A) 1 (B) 3 (€) 5 (D) None of these
=t 318 s Qe o) e s & Fovr o) faem sien she e T e

86768932753422355228119
3 (C) 3 (D) 398 F = TE

From 4 to 49, how many numbers which are divisible by four and the sum of

their digits is 9, are

48 49 7, foral Tl £ 5 am d wiew 3 ST S AT 9 R @5

(A) 1 (B) 2 (C) 3 (D) 5 o

A man said to a woman, “Your brother’s only sister is my mother.” What is
the relation of the woman with the maternal grand mother of that man ?

(A) Mother (B) Sister (C) Daughter (D) None of these

U JE9 | U Algell § Hal, “H0H TS 1 THAT S5 Bl O 27, 9 39 afEe
1 IH TH9 1 A1 T FEY B 9

(A) HTdI (B) =& (C) T (D) 399 § s T8

Amar is on 9" position from upwards and on 14" position from downwards
in a class. He secured 5™ position from upwards and 1™ position from
downwards among the students who passed in the class. How many students
failed in the class ?

(A) 5 (B) 6

(C) 7 (D) Cannot be determined

H UH FAH H F W Al S A A 14 Rl w R | o § awm ay e
ferenféfari 5 svm Fm & st 3 R & 1 19T w=m W w2 v § e
feremeff et gu & 2

(A) 5 (B) 6

() 7 (D) Fruife =& 75 s g




106.

107,

108.

109.

110.

Prabhat jumps higher than Prakash, but not as much as Prabodh jumps. Pranay
jumps lower than Amit but not less than Prabodh. Who jumps lowest?

(A) Prakash (B) Prabodh (C) Amit (D) Pranav

NI WeTe A Fe g ween R, fobd waa foraen 7@l | worE A | g
waa R o ety & s ) | Y wa w5y S fHEd 8 2

(A) Wem (B) W&l (C) fua (D) ¥

Nivedita moved 15 m. in the snull;. Then she turned to hér Ic?ﬂ a;u:l moved

10 m. She again turned to her left and moved 15 m. After this she turned to

her right and moved 15 m. How far is she from her starting point ?

(A) 20m (B) 25m (C) 30m (D) 40m

ol 15 . gy i e & | a o o1 AT gew 10, Sl # ) 56 R

ST gyt 15 . S R | oA g8 A g geeRt 15 W Sl R |5

rifives fifg & e qr & 2

(A) 20, (B) 2571, (C) 30 (D) 40 .

If “+* means ‘~': ‘=" means ‘x"; ‘x" means ‘=’ and "+ means *+’ then

afe el o = A ) % H A e Y - R TE
15x3+15+5-2="7

(A) 5 (B) 8 (Cy 10 (D) 12

Complete the series :
TKIJ, QLM, NMP, KNS, ?

(A) HPU (B) HOW (C) GPV (D) None of these
TKJ, QLM, NMP, KNS, ?
(A) HPU (B) HOW (C) GPV (D) 3 W IS A

How many cubes of 4 cm side can be formed from a cube of 16 cm side 7

16 om TTEE % T & 4 cm I8 < R o9 T s g 2 0
(A) 27 (B) 64 (C) 125 (D) 216



111. H.P. falls in which Himalayan Zone ?
(A) Central Himalayas
(C) Western Himalayas

fg.ﬁ.ﬁ?ﬂ%ﬂﬁﬁﬁaﬁm%?
(A) 7o femrer (B) g1 famrera
(C) ufvem fewrerm (D) T & IS TE

112. ‘Dhauladhar’ means

(A) Naked Peak (B) Brown peak (C) Sharppeak (D) White peak
‘O /A R 0

(A) Fmfm  (B) yofmw () defim (D) vEE e
113. Lahaul-Spiti covers what percent of total geographical area of H.P. ?

et -wife f&.5. % o viviifers & w1 fren vl smaf@ F@iR 2

(A) 14.85%  (B) 1885%  (C) 22.85% (D) 24.85%
114. Pandoh lake is situated in which district of H.P. ?

(B) Eastern Himalayas
(D) None of these

(A) Chamba (B) Kinnaur (C) Mandi (D) Kullu

eReE Ry S tmifRas?

(A) ST (B) o=l (C) w&t (D) Feel
115. ‘Banganga’ is a tributary of which river of H.P. ?

(A) Beas (B) Satlyj (C) Yamuna (D) Ravi

grrr By, Hifrg S Hiams w2

(& = (B) ¥aG  (C) TN (D) T

116. The first airport of H.P. was constructed at which place in H.P. ?

(A) Jubbarhatti (B) Gaggal (C) Bhunter (D) None of these
fe.u. # form wrm w .. &1 wewm Ay i gan 2

(A) FTEE! (B) e (C) W@ (D) 3 ¥ S &

Bhadal glacier is located in which mountain range of H.P, ?
(A) Dhauladhar (B) Choordhar (C) PirPanjal (D) Zaskar
e et {2y, i form wdasof F R 2 2

(A) ¥lemR (B) WguR () fiE®m (D) wEER

117,



118. Phulech festival is celebrated in which district of H.P. ?
(A) Chamba  (B) Sirmour  (C) Shimla
o weiter f.w. & frg Rt 3 weman i 8 2

(D) Kinnaur

(A) =wn (B) fawdl (C) farmen (D) fE=m
119. Lavi fair is about 206 |
(A) 100 yearsold (B) 200 yearsold (C) 300 years old (D) years old
et Bel & T .
(D) 400 T4 I=H

(A) 100 =¥ ST (B) 200 74 1= (C) 300 3 W=

120. Originally Jamlu devta was
(A) Parshuram
(C) Rishi Bhardwaj
T[T ST, gaa 9
(A) TUH
121. Which temple is known as Ellora of H.P. ?
(A) Brajeshwari temple (B) Mirkula Devi temple
(C) Nainadevi temple (D) Masrur temple
fira Hifet @1 2.5, F1 USRI hET 1 & ?
(A) T ERe (B) Prgenehify (C) FdiHfa (D) FEEHE

122. Tayul Gompa was built in which century ?

(B) Rishi Jamdagni
(D) Rishi Vishwamitra

() W W (C) B W (D) =fy frgaihin

(A) 11 (B) 13" (C) 15" (D) 17™
age et fore wd) | fftda g3 off 2
(A) 11%f (B) 13%f (C) 154 (D) 174
123. Cham_ba painting got the royal patronage for the first time during the reign
of which ruler ? )
(A) Sahi‘l V.'arman (B) Mushan Varman
(C) Udai Singh (D) Meru Varman

o rereh o WISt & wreiwerm W s femee ) T SeE T g3 7
(A) wfg@ s (B) FWRTH  (C) sqafig (D) Fwad



124. The Audumbaras were considered as descendends of which sage ?

(A) Attri (B) Vishwamitra (C) Bhardawaj (D) None of these

aftgrr = v i o sy v s & 2

(A) B) fwafm () wa= (D) = A = 74
125. Guler princely state was founded by which ruler ?

(A) Hari Chand (B) Purab Chand m

(C) Hemi Chand (D) Kailash Chand

TR T T oY T o e 3 ) ofl 2
(A) &=. (B) E e (C) =i (D) o=z

126. The first Municipal Government formed in MC Shimla in which year ?
Rrren T Frm 3 e o wedvwem e nebe fida 582

(A) 1851 (B) 1891 (C) 1921 (D) 1951
127. Dr. Y.S. Parmar University of Horticulture and Forestry established in
which year ?
31, 9TE.UE. AR IaE 3R aifeht favatanmers e ad wenfi o mn 2
(A) 1985 (B) 1988 (C) 1991 (D) 1995
128. Kugti wildlife Sanctuary is located in which district of H.P. ?
(A) Bilaspur (B) Hamirpur (C) Una (D) Chamba

FE Fefa 3rvamey f.w. o fore foei o fem 2 2
(A) fommg  (B) FRE (C) F (D) ==
129. Himachal Sewa Sadan is located at which place ?

(A) Shimla (B) Dharamshala (C) Chandigarh (D) None of these
e T e RE R ?

(A) Rmren (B) wtsmen (C) =i (D) FHYFRTE

Kalpi Memorial is located at which place in H.P. ?

(A) Paonta Sahib (B) Dharamshala (C) Manali (D) Sundernagar
Fd feE Ry A emwfRE g ?

(A) dvziafEs  (B) dumen (C) waTedt (D) F&TR

130,



Directions (Q. 131 10 138) : Choose the correctly spelt word out of the f‘i‘-'urg-,,hga
alternatives A, B, C and D. |
131. (A) Gregerios  (B) Gregarious () Gregarios (D) Grigarigy,

132. (A) Overwelming (B) Ourwelming
(C) Overwhelming (D) Ourwhelming

133. (A) atributes (B) atribeutes (C) atrributes (D) attributes
134. (A) Visualised (B) Vizualised (C) Vizualized (D) Visuelised

135. (A) Suseptible (B) Susceptibel (C) Susceptible (D) Sasceptible

Directions (Q. 136 to 140) : Choose the most appropriate option out of give
alternatives A, B, C and D to fill in the blank.

136. There was an silence after the announcement.

(A) awkward (B) uneasy (C) eternal (D) eerie

137. We did not have the idea of the problems involved in the work

(A) closest (B) feeblest (C) weekest (D) faintest

138. | object waiting. You are always late for appointments.

(A) to (B) 10 being kept (C) 1o keep (D) 1o keeping

139. Your statement is replete contradictions

(A) by (B) of (€) in (D) with

140. You will leave India before two months

(A) would pass

——————

. (B) have passed
(C) will pass (D) would have passed



n])irectinns (Q. 141 to 145) : Choose the word that is most nearly the opposite in

141,

142.

143.

144.

145.

meaning of the given word out of four alternatives A, B. C and D.
Vanity

(A) Modesty (B) Kindness  (C) Compassion (D) Moderation

Impervious

(A) Penetrable (B) Hidden (C) Tolerable (D) Gentle

Audacious

(A) Timid (B) Vulgar (C) Low (D) Unpractised

Subjugate
(A) Liberate (B) Enslave (C) Enrich (D) Identify

Exonerate

(A) Compel (B) Accuse (C) Imprison (D) Boldness

Direction (Q. 146 to 150) : Choose the most appropriate option which can be

146.

147.

148,

substituted for the given words/sentence out of four alternatives A, B.
Cand D.

A process involving too much official formality

(A) Nepotism (B) Diplomacy (C) Red tapism (D) Bureaucracy

Life history of a person written by another .
(A) Autobiography (B) Biography Eﬁg
(C) Bibliography (D) Memoir

One who loves all and sundry
(A) Optimist (B) Humanist (C) Altruist (D) Philanthropist

. A government run by a dictator

(A) Democracy (B) Autocracy (C) Oligarchy (D) Theocracy



150. Person who is indifferent to both pleasure and pain

(A) Saint

(B)

Ascetic

fEw : (0. 151 & 155) : g I g0 :

151.

152.

(A) T

(A) 394

153. (A) "Ewf®
154. (A) THE

155. (A) FHEHK

(3)

Frar

(B) I

(B) wrfefers

(B)

(B)

TR

3w : (3. 156 8 160) : H& 312 FHO:

156. Petitioner

157.

158.

159.

160.

(A) 3reredi

Provident

(A) fefe

Resumption

(A) Wi

Notary Public
(A) T YT

(C) @1 Tars

Concurrence

(A) TEHII

(B)

(13)

(13)

(B)

srfyreiE Hie

vl

PEIEHE

LS DE|

(C) Stoic

() femm

(C) FFF

() arEifers

(C) T

(C) AH=RT

(€'y  3TTTaEn

(C) TS

(S IGES

(B) =Eras

(D) Hermit

Dy by maf

(1) Zresh

(1)) T&3Tm

(D) Tasms w=Efawm

(C) =43f4

(D) weHfa



fdw : (3. 161 & 165) : QT e gfi -

161. 3fg
(A) T (B) fafw © (D) wTEd
162. 93
(A) HEQ (B) = (C) ¥« (D) %=
163. TR
(A) 39 (B) 3= (C) (D) =9eH
164.
64. T %%
(A) @R (B) e (C) 31 (D) Td ofS
165. Tifd
(A) 99 (B) Ta=<A (C) X (D) e
166. ‘umET ¥ T
(A) &5 (B) WEHIE (C) deIEy (D) e

167. = % wfu-fa=oe &
A DI (B) T+ (€) I+ (D) =t + 3

168. ‘Ta’ = AT | 8

(A) &an (B) <=l (C.T' G| (D) <=
160, “mebr w1 Tereiaele

(A) FEH (B) <hedl (C) Fiew (D) gsﬁrvn
170, et ¥ Fod e e 1 3 &

(A) ea= wRed BT (B) wftrat mamn

(C) 3=l TR AT (D) M T T gen B




